



नाम: _____

दिनांक: _____ स्कोर: _____

$$(2 - \frac{2}{3})^2 - \frac{1}{3} - 2^2 + \frac{1}{2} =$$

$$(\frac{1}{6} + (\frac{3}{5})^2) \times \frac{1}{2} + (\frac{1}{5} + \frac{3}{2})^2 =$$

$$(4 + \frac{3}{4})^2 + \frac{2}{3} \times 3^2 \times \frac{2}{3} =$$

$$(4 + \frac{3}{5})^2 + \frac{1}{4} \times 4^2 - \frac{3}{2} =$$

$$(\frac{2}{5} - \frac{1}{6})^2 + \frac{3}{4}(\frac{1}{2} - (\frac{2}{5})^2) =$$

$$(\frac{2}{5} - (\frac{1}{2})^2) \times \frac{3}{5} - (\frac{1}{2} + \frac{3}{5})^2 =$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{2}{5} + (\frac{1}{4} + \frac{1}{3})^2 =$$

$$(\frac{1}{5} + \frac{3}{2})^2 - \frac{3}{5}(\frac{1}{2} + (\frac{3}{2})^2) =$$

$$(\frac{3}{5} + (\frac{3}{4})^2) \times \frac{3}{2} + (\frac{1}{2} + \frac{1}{2})^2 =$$

$$(\frac{1}{5} - (\frac{1}{6})^2) \times \frac{1}{3} + (\frac{2}{3} + \frac{2}{5})^2 =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$(2 - \frac{2}{3})^2 - \frac{1}{3} - 2^2 + \frac{1}{2} = (-\frac{37}{18}) = (-2\frac{1}{18})$$

$$(\frac{1}{6} + (\frac{3}{5})^2) \times \frac{1}{2} + (\frac{1}{5} + \frac{3}{2})^2 = \frac{473}{150} = 3\frac{23}{150}$$

$$(4 + \frac{3}{4})^2 + \frac{2}{3} \times 3^2 \times \frac{2}{3} = \frac{425}{16} = 26\frac{9}{16}$$

$$(4 + \frac{3}{5})^2 + \frac{1}{4} \times 4^2 - \frac{3}{2} = \frac{1183}{50} = 23\frac{33}{50}$$

$$(\frac{2}{5} - \frac{1}{6})^2 + \frac{3}{4}(\frac{1}{2} - (\frac{2}{5})^2) = \frac{557}{1800}$$

$$(\frac{2}{5} - (\frac{1}{2})^2) \times \frac{3}{5} - (\frac{1}{2} + \frac{3}{5})^2 = (-\frac{28}{25}) = (-1\frac{3}{25})$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{2}{5} + (\frac{1}{4} + \frac{1}{3})^2 = \frac{461}{720}$$

$$(\frac{1}{5} + \frac{3}{2})^2 - \frac{3}{5}(\frac{1}{2} + (\frac{3}{2})^2) = \frac{31}{25} = 1\frac{6}{25}$$

$$(\frac{3}{5} + (\frac{3}{4})^2) \times \frac{3}{2} + (\frac{1}{2} + \frac{1}{2})^2 = \frac{439}{160} = 2\frac{119}{160}$$

$$(\frac{1}{5} - (\frac{1}{6})^2) \times \frac{1}{3} + (\frac{2}{3} + \frac{2}{5})^2 = \frac{3227}{2700} = 1\frac{527}{2700}$$